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PART A
Moment of a force about a point is defined as the product of that
force (F) and perpendicular distance between the point and force
I(1) . . 2 2
or line of action of force (d).
ie, M=Fxd
12) Centroid may be defined as the point at which total area of the 9 )
plane figure is assumed to be concentrated
Hooke’s law states that when a material is loaded within elastic
I(3) limit, the stress is proportional to the strain produced by the 2 2
stress.
T/J = g/R = Ge/l.
Where T= Maximum twisting moment (Torque),
J= Polar moment of inertia, 0
= shear stress,
1) R= Radius of the shaft, 2 2
G = modulus of rigidity,
e = Angle of twist,
| = Length of shaft
M/I=1fly=ER,
Where M = Bending moment, -
1(5) I = Moment of Inertia, 5 5

= Bending stress,
y = Distance of fiber from neutral axis,
E = Modulus of elasticity,
R = Radius of curvature.
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